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std::operator<<<std::char_traits<char>>(&std::cout, "Enter the valid key!\n", envp);
std::operator>><char,std: :char_traits<char>>(&edata, v42);
std::allocator<char>::allocator(&v3s);
std::string::string(v39, v42, &v38);
md5(v4e, v39);
v4l = std::string::c_str((std::string *)v40);
std::string: :~string((std::string *)v4e);
std::string: :~string((std::string *)v39);
std::allocator<char>::~allocator(&v3g);
if ( *(_WORD *)v41 == 14391

&& *(_BYTE *)(v4l + 2) == 48

&& *(_BYTE *)(v4l 3) 52

&& *(_BYTE *)(v4l + 4) 51

&& *(_BYTE *)(v4l 5) 56

&& *(_BYTE *)(v4l + 6) 100

&& *(_BYTE *)(v4l 7) 53

&& *(_BYTE *)(v41l + 8) 98

&& *(_BYTE *)(v4l 9) == 54

&& *(_BYTE *)(v4l + 10) == 101

&& *(_BYTE *)(v4l 11) == 5@

&& *(_BYTE *)(v4l + 12) == 57

&& *(_BYTE *)(v4l 13) == 100
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:char_traits<char>>(&std: :cout,
:char_traits<char>>(v3, 'h");
:char_traits<char>>(v4, 'e');
:char_traits<char>>(v5, " ");
:char_traits<char>>(ve, 'k');

:char_traits<char>>(v7, 'e');
:char_traits<char>>(v8, 'y');
::char_traits<char>>(v9, " ");
: :char_traits<char>>(vlie, 'i");
::char_traits<char>>(v1l, 's');
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::char_traits<char>>(v12,
::char_traits<char>>(v13,
: :char_traits<char>>(v14,
::char_traits<char>>(v15,
: :char_traits<char>>(vl6,

::char_traits<char>>(v17,
: :char_traits<char>>(v18,
::char_traits<char>>(v19,
: :char_traits<char>>(v20,

2t The key is valid :)
AR AR Ik AL if

if ( *(_WORD
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE
&& *(_BYTE
&& *( BYTE

I
I
Uknﬂ.dku#s@

1]

1]
1]
(s )

]
1]
Voo WwWMNTIM

1]
1]
D h BN T o

e S S S S S S e S S S S S T S T S
I
1]

va1 Hil vae K5 vae SUBE N FIEE KEREHIWT vae 1T md5 N 5 A2t 1TifH
BT A EABRE R sl
A 2% A I mnd S AL 5 45 21

BRIEA U 2 Z 221, !



	XCTF-dmd-50

